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PART—I
( LANGUAGE )

Directions (Q. Nos. 1 and 2) : Fill in
the blanks with suitable articles like

5. Rainy season comes before

A .
‘a’, ‘an’ and ‘the’ : (A) winter
(B) spring
1. There are 30 or 31 days in
(C) summer
month.
(A) the (D) More than one of the above
B) a (E) None of the above
(C) an
(D) More than one of the above 6. The eighth month of the year is
(E) None of the above A) July
2. My father is engineer in (B) September
the Water Works Department. (C) October
(A) the
(B) an (D) More than one of the above
(C) a (E) None of the above

(D) More than one of the above

(E) None of the above 7. Sister-in-law is

3. Which of the following is a part (4) husband’s sister

of bedroom? (B) wife’s sister
(A) Pillow

(B) Table lamp

(C) Curtains

(D) More than one of the above
(E) None of the above

(C) brother’s wife
(D) More than one of the above
(E) None of the above

8. Cousins are
4. Which of the following is a part

of a room? (A) maternal

(A) Window (B) paternal

(B) Ceiling (C) siblings

C) F1

(C) Floor (D) More than one of the above
(D) More than one of the above

(E) None of the above (E) None of the above
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9.

10.

11.

12.

‘Ftét’ weg H wH-w w@w Y
(A) FeFETE G

(B) Siferer=res @1

(C) wTeaT=I BT

(D) 3wtk # & T § enferen
(E) 3w & & 18 7t

fferfiad wsdl § & FH-w1 TehawH 77
(A) TEER

(B) BFm

(C) =g

(D) 3w U | UH A Al

(E) 3w & & 18 7

fe=dt vt § ‘g’ w1 A fRg a0 %
o8 A1 27?

INEEERE

(B) ¥ e

(C) = % 99w

(D) 39w H ¥ TH ¥ M
(E) 3w & & 18 7t

‘ot 7' gwaE 2, 38 a3\
AR W -1 T 27

INBREEREIEES

(B) TEeEm®

(C) gEvaTIH

(D) 39w | ¥ TH ¥ M
(E) 3udth # & 1S T
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13.

14.

15.

16.

e =61 g g - TE R
(A) sTETEATHe forRreor

(B) U= fergrem

(C) i fergror

(D) 39w | ¥ UH ¥ M+

(E) 3udth # @ 1S T

frfefaa & & F=-1 3735 72 27
(A) Fvew

(B) FH

(C)

(D) 39w | ¥ UH ¥ M+

(E) 3w & @ 18 7

frfafaa 9 @ &F-81 gE Fd- aren
MR

(A) &b

(B) &=

(C) =TT

(D) 39w W | TH § Afh
(E) 3udth # & g T

frfeafiga & @ F-a1 “qom’ e 7
(A) R

(B) w®

(C) =%

(D) 39w W | TH § Afh

(E) Sudth # & #1$ T

[P.T.O.



17. Tfafad § & wm-w1 foesft s &7

18.

19.

20.

(A) =T

(B) wiieEn

(C) =m

(D) 3w & ¥ wh @ Afeek
(E) 3w & & 18 7t

=T % R WA 3sa] & @e g
8 3% FH-91 I el AT &7

(A) w3

(B) i

(C) InTEg

(D) 39w H ¥ TH ¥ M
(E) 3udth # & #1$ T

frfafaa @ 4 fra o 0 ‘edw
fop” 27

(A) 38 Ta TR |

(B) fetert et 21

(C) ¥a% & | TR 9T 2|

(D) 39w | ¥ UH ¥ M+

(E) 39tk # & 1S T

freferfad & & F-1 39 wTeg 27
(A) mEmr

(B)

(C) waw

(D) 39w | ¥ TH ¥ M

(E) Sudth # & #1$ T
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21.

22.

23.

24.

frafafaa & @ ®F-a1 st ¥ wse T
37

(A) <R

(B) Steaum

(C) wefs

(D) 39w U | UH A Al

(E) 3wt § @ #1g T

‘@i’ fope a1 Tee 87
(A) Tl

(B) Wt

(C) Tl

(D) 3UYh H § TH ¥ Al
(E) 3w & @ 18 7t

IE 3N IE T B HH-a1 TH T
g &7

(A) HIEATRHI—RIHR

(B) g—Po

(C) WTRTH—HETeH

(D) 30w W | TH § Afh

(E) 3w & & 18 7t

“Ioem afos SSEd 2 T o9 ®
Eifehd wsg I g AT hi-HT B7

(A) S

(B) $sc

(C) 3saa

(D) 3w U | UH § Afh
(E) ST 4 4 & 7

4 [N



25. UF B2 IMHd 1 THhIAT o, S A

26.

27.

W forefl fog 1 feufa =1 w18 e g,
3W 1 HEd 87

(A) FER

B) fm

(C) wTe

(D) 3w W | TH § Al
(E) 39w | & &g T

‘FFEF o G HT FT TH 27
(A) =Thaly

(B) =R uigeh

(C) Hfvrcfieror 70

(D) 39w | ¥ TH ¥ M
(E) 30 § & =+ T

“Srarer B are e |
gId g3 Heeld, Sig-arg &g Ma |l

I HTI-UTRAT T HH-91 T 27

(A) Fm

(B) ®

(C) daTced

(D) 39w | ¥ TH ¥ M
(E) 39w # & &8 7
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28. &= Wil % 3gWE &1 el HHT ST 2

29.

30.

(A) 500 3o go

(B) 500 %o

(C) 1000 3o

(D) 3 U | UH A Afh
(E) 3w & @ 18 Tl

e A b 1 B e 4 G B =i
fetrfem, wnfimrt vd g gfas Ame @6t
EZdRIRI

A) diRafera

(B) ¢fiem

(C) R vura

(D) 39w W | TH § Afh
(E) 3udth # & 1S T

o wedl W fom, a=H, R # owE
9 9 U2, 9 FEAd &

(A) ==

(B) o=t

(C) Afrrdt

(D) 39w | ¥ TH ¥ 3=
(E) 39w # & &8 T

[P.T.O.



31.

32.

33.

PART—II
( GENERAL STUDIES )

The floor of a rectangular hall
has a perimeter 250 meters. If
the cost of painting the four
walls at the rate of 10 per
(meter)? is € 15,000, then the
height of the hall is

(A) 7 meters

(B) 16 meters

(C) 6 meters

(D) More than one of the above

(E) None of the above

Which of the following
statements is not true?

(A) Every natural number is a
whole number.

(B) Every integer is a whole
number.

(C) Every natural number is an
integer number.

(D) More than one of the above
(E) None of the above

The average of 7 consecutive
numbers is 20. The largest of
these numbers is

(A) 20
(B) 21
(C) 23

(D) More than one of the above

(E) None of the above
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34. The equation ax?+bx+c=0 has

35.

two distinct real roots, if

(A) b%-4ac<0

(B) b%-4ac>0

(C) b%-4ac=0

(D) More than one of the above

(E) None of the above

Mohan can do a bit of work in
25 days which can be completed
by Sohan in 20 days. Both
together labour for 5 days and
afterward Mohan leaves off. How
long will Sohan take to complete
the remaining work?

(A) 20 days
(B) 11 days
(C) 14 days

(D) More than one of the above

(E) None of the above



31.

32.

33.

PART—II

( GENERAL STUDIES )

T IAAHR B & B hl IRy
250 Hier g1 gfe & 10 ufa o e
WY I AaE U = H A
¥ 15,000 2, a1 gt il ST 8

(A) 7 Hi

(B) 16 #ix

(C) 6

(D) 39w H ¥ UH ¥ M+

(E) 3w d ¥ =I5 T

fefafga & @ FH-w1 w9

T 27

(A) T WTHd WA, TH 0w B

(B) Yk qUIieh, Teh qUT G B

(C) Y% UIHd €&, TH YUl
e 2|

(D) 30w W | TH § Afh

(E) 37d & & 18 T

7 HHATG AT 1 3fEd 20 21 TH
Y oy 99 O ©

(A) 20

(B) 21

(C) 23

(D) 39w | ¥ UH ¥ M+
(E) 3udth § & #1$ T
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34. T F0 ax2+bx+c=0 % d fiE

35.

rEdfae ge i, Al

(A) b%-4ac<0

(B) b%-4ac>0

(C) b%-4ac=0

(D) 3w U | UH A Al

(E) 3w H © %18 T

e 25 T # uh wm 9 e B
@ @ 20 f it & 9u s wehar 2|
Al U |y 5 Tt & fou o a2
3R 3Gk 18 Higd H BIS ol gl AT

F P QU A H died Hl o am
Y

(A) 20 f&
(B) 11 f&
(C) 14 f&
(D) 3w W | TH § Al

(E) 37 & & 18 e

[P.T.O.



36.

37.

38.

If X=a°-b?
a+ b =15, then

Y =30 and

(A) X is lesser than Y if a=b
(B) X is greater thanY ifa> b
(C) Y is greater than X ifa=b
(D) More than one of the above

(E) None of the above

The probability of a non leap
year selected at random will
contain 53 Sundays is

1
(A) =
2
(B) =
1
(©) =3

(D) More than one of the above

(E) None of the above

If 7126 = 493x+12 " then the
value of x is

A) 3
(B) 4
C) 7

(D) More than one of the above

(E) None of the above
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39. Myopia is a disease in which a

40.

41.

person cannot see
(A) distant objects clearly
(B) nearby objects clearly

(C) nearby as well as distant
objects clearly

(D) More than one of the above

(E) None of the above

The term ‘heredity’ chiefly refers
to

(A) anatomy

(B) meiosis

(C) genetics

(D) More than one of the above

(E) None of the above

in which food is
packed are coated with tin and
not zinc because

The cans

(A) tin is more reactive than
zinc

(B) zinc is more reactive than
tin

(C) zinc is costlier than tin
(D) More than one of the above

(E) None of the above



36.

37.

38.

afs X =a?-b?,
a+b=157%,

A) XBizYydaaka=hb

Y =30 du=@

(B) Xagig Y@ARa>hb
(C) YSeig X¥aa=h
(D) 39w H ¥ UH ¥ M+
(E) 3w & @ 18 7t

gfoa® €9 ¥ FH T TH - a9 |
53 oaR g4 =t TiReRar 8

1
(A) =

(B) =3

1
(©) =3
(D) 30w W | TH § Afh

(E) 3w | ¥ 18 e

-qﬁ 712X+6 — 493x+12 —Eﬁ, ?ﬁ x &1
GIChd

(a) 3

B) 4

(C) 7

(D) 3w W | TH § Afh
(E) 3udth # & #1$ T
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39. wEifuan T sw g, e whte @

40.

41.

EERICIR

(A) T H L T ¥ Y

(B) U il IEIE TE €Y Y

(C) T8 & qT T I U T &9 H
(D) 39w | ¥ TH ¥ M

(E) 393t o & 18 T

‘SEfERdT Y gEd w9 ° fRg
Hafilq st 27

(A) IRR-T=AT

(B) regEht favsH

(©) st

(D) 3w ® § TH ¥ fh
(E) 3udth § & #1g T

o fesai & @ ¥ fom San g, A
R fo & wa = Bt & 7 R 5w A
FifR

A) fH, & H g # Al
fefsramefier

(B) T, &7 & gam # Afees
fefspramefier

(C) 5=, fmaweme
(D) 39w U | TH § Al
(E) 37 & ¥ 18 e

[P.T.O.



42. The process in which 44.

atmospheric carbon dioxide is
converted into carbohydrates
during photosynthesis is

(A) oxidation

(B) reduction

(C) hydrolysis 45.

(D) More than one of the above

(E) None of the above

43. The quality of a printer is
determined as

(A) words per inch

(B) strike per inch

(C) dots per inch

(D) More than one of the above

(E) None of the above

46.

Trachoma disease is related to

(A)
(B)
(C)
(D)

(E)

lungs

ears

eyes

More than one of the above

None of the above

Which of the following makes
use of Newton’s third law of

motion?

(A) Archery

(B) Space rocket

(C) Venturimeter

(D) More than one of the above
(E) None of the above

Particles which can be added to
the nucleus of an atom without
changing its chemical properties

are

(A)
(B)
(€)
(D)

(E)

neutrons

electrons

protons

More than one of the above

None of the above
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42. g Yihar, ad Tme-wvame & SH

43.

IYE TAT wEA SEATFERS  H
Fratergee § giatdd o Sar g, 2

(A)  ATereTeRToT

(B) 1q==A

(C) STeft-forgereoT

(D) 39w H ¥ UH ¥ M+

(E) 3T | ¥ *18 e

wF e & o frea fetfa d
STt 27

(A) e ufd 3=

(B) WER Ui ¥

(C) forg wfa &=

(D) 30w W | TH § Afh

(E) 37 | ¥ 18
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44, HET T H qER 7

45.

46.

(A) wwEt @

(B) &M ¥

(C) =At@i @

(D) 39w | ¥ TH ¥ M

(E) 39w & & &g T
frefefaa & & F-a = % T
ek fw o1 3T T 87

(A) e

(B) 37afted Wehe

(C) e

(D) 3w W | TH § Al

(E) 3udth # & 1S T

O o I SaREfid T@d ge T
TIHTY] o AT | SIS ST aTet T §
(A) =g

(B) FwgH

(C) Wi

(D) 39w | ¥ UH ¥ i

(E) 39w # & &8 7

[P.T.O.



47. Before Elon Musk announced

48.

49,

change of the signature Blue
Bird logo to Sign X’ logo, who is
regarded as the creator of
Twitter’s iconic Bird in its final
version in 20127

(A) Jack Dorsey

(B) Martin Grasser

(C) Noah Glass

(D) More than one of the above

(E) None of the above

Who is the Director of the
famous film Oppenheimer, a film
about high-concept
released this year?

science,

(A) Christopher Nolan

(B) Guy Ritchie

(C) Laura McGann

(D) More than one of the above

(E) None of the above

Which one of the following has
pulled out from hosting the
2026 edition of Commonwealth
Games due to huge estimated
expenditure on its organization?

(A) London, UK

(B) Kuala Lumpur, Malaysia
(C) Victoria, Australia

(D) More than one of the above

(E) None of the above
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50. What is the full form of INDIA, a

51.

recently formed alliance of
opposition political parties?

(A) Indian National Develop-
mental Inclusive Alliance

(B) Indian National Develop-
ment for Improvement
Alliance

(C) Indian National Develop-
mental Inclusive Associa-
tion

(D) More than one of the above

(E) None of the above

What message was sent by
Chandrayaan-2 lunar orbiter to
Chandrayaan-3’s lander module
when it established contact with
it in August 20237

(A) “Welcome home”

(B) “Chalo
chalein”

chand ke paar

(C) “Welcome, buddy”

(D) More than one of the above

(E) None of the above



47. TEH W FN MUR & 98 @rn @

48.

49.

TRt X A o =F Y uEd,
2012 ¥ 1 AfH "eRor H g %
yiafsd =< % i & &9 # fra A7m
I

(A) S et

(B) wféT ame

(C) eI T&@E

(D) 3w U | TH A Afh
(E) 3udeh # & 1S T

30 a4 ellsl g8 I=-3auron g™ &
IR § yttg fhen “afioeem’ & v
HH 87

A) e TeH

(B) s =t

(C) < B

(D) 39Y® | ¥ TH ¥ M

(E) 3w & 9 18 T

Freafafaa & @ fFoa w51 welt &
2026 TR H ASEHT F THh
FRSH W 9 STFATHG 2T o R0
IO A AT9E o forn 87

(A) @&, Fo ho

(B) FAAR, AARTN
(C) foertfeam, sitefern
(D) 39w H ¥ UH ¥ M+
(E) 3udth # & 1S T
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50. g g # od fquefi usHifas e &

51.

13 (RO

T INDIA %1 qUiEq -1 37

(A) 3T THA STUHeA  EME

AATTH

(B) 3fead JvHd STcUHE HR IHEHE
FATH

(C) e THE Sa@uHeA  IFd
LEIELE]

(D) 39w | ¥ UH ¥ i+

(E) 37 & & 18 e

A 2023 § T wEAE-2 Wg
e T I5AH-3 & ik uiegd o

groes Tefud R, df 3EY 39 T EeW
AT oY

(A) “Sorwm T

(B) ‘=it =g % ur =t
(C) “‘ScTewm, Tt

(D) 39w H ¥ UH ¥ M
(E) 39w # & 18 T

[P.T.O.



52. Name the former President of

53.

54.

China who crushed the pro-
democracy movement in 1989.

(A) Mao Tse Tung

(B) Yang Shangkun

(C) Jiang Zemin

(D) More than one of the above

(E) None of the above

Who has elected for the second
term as Ireland’s Prime
Minister?

(A) Sanna Marin
(B) Robert Abela
(C) Leo Varadkar
(D) More than one of the above

(E) None of the above

African Union was made a
permanent member in the G-20
Summit held in India. Who is
the Chairman of the African
Union?

(A) Azali Assoumani

(B) Justin Trudeau

(C) Ursula von der Leyen

(D) More than one of the above

(E) None of the above
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55. As per geographical area,
arrange the following physio-
graphic units of India in

56.

ascending order

1. Central highlands
2. Great plains

3. Coastal plains

4. Northern Mountains

Select the correct answer using
the codes given below.

A 3,1,2,4
B 1,2, 3,4
< 2,4,1,3

(D) More than one of the above

(E) None of the above

Arrange the following ranges
from North to South in
sequence :

1. Ladakh

2. Karakoram
3. Pir Panjal
4. Zanskar

Select the correct answer using
the codes given below.

A) 1, 3,2, 4
B) 2,1,4,3
< 3,4,1,2

(D) More than one of the above

(E) None of the above



52.

53.

54.

1989 U dlhasl Gwde IT<Icd i

FaeH ard FH1 % 99 Ugafd w AW
fefiam |

(A) ST & g

(B) = WA

(C) fomrm Siftm

(D) 30w U | TH § Afh

(E) 3udth # & 1S T

APRSlE & TAEEA F ®T OF g
FrdeRtet & fore fordr gm e 27

(A) &= wH

(B) e el

(C) fort strga

(D) 39w | ¥ UH ¥ M

(E) 3udth # & #1$ T

IRa # TG si-20 R awes d

FER Y Rl TR ¥ ST T
TR G5 % 7L Hi 87

(A) T e

(B) et g2t

(C) 3G aH X TH

(D) 39w | ¥ TH ¥ M
(E) 39w # & &g 7
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55. WFlifeh &% & gaR, 9Rd &

56.

15 (RO

FfaRaa e (Tefsammtes) st
1 TR ¥ H ATEd HIT :

1. s =9
2. HgH AeH
3. W HeN

4. 398 v
f= fow T g W oW W EE W
el

A) 3,1,2, 4
(B) 1,2, 3, 4

(C) 2,4,1,3

(D) 39w | ¥ UH ¥ M
(E) 3udth # & 1S 7

frefaitaa aftml = s @ <y i
3N A | HAEId il

1. o€
2. THHIA
3. R U~

4., SR
= fau MU Fe W O W AE IW
Tl

A) 1,3,2, 4

B) 2,1, 4, 3

(C) 3,4, 1,2

(D) 39Y® | ¥ TH ¥ M
(E) 3udth # & #1$ T

[P.T.O.



57. During the monsoon season in

58.

59.

India, most of the cyclones have
their origin

(A) between 8°N and
latitude

13° N
(B) between 10°N and 15°N

latitude

(C) between 16°N and 21°N
latitude

(D) More than one of the above

(E) None of the above

Which of the following areas is
not landslide-prone area?

(A) Western Ghats

(B) Eastern Ghats

(C) Himalayan Regions

(D) More than one of the above

(E) None of the above

Which of the following coasts of
India is most affected by violent
tropical cyclones?

(A) Malabar

(B) Coromandel

(C) Konkan

(D) More than one of the above

(E) None of the above
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60. When

61.

62.

running water cuts
through clayey soils and makes
deep channels, they lead to

(A) gully erosion
(B) sheet erosion
(C) deforestation
(D) More than one of the above

(E) None of the above

Which of the following receives
heavy rainfall in the month of
October and November?

(A) Hills of Garo, Khasi and
Jaintia

(B) Coromandel Coasts
(C) Plateau of Chota Nagpur
(D) More than one of the above

(E) None of the above

Cultivation of fruits and

vegetables is called

(A) floriculture

(B) agriculture

(C) horticulture

(D) More than one of the above

(E) None of the above
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58.
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63.

64.

65.

66.

Who provided leadership in the
districts of Patna, Ara and
Shahabad during the Revolt of
1857 in Bihar?

(A) Raj Kumar Shukla

(B) Namdar Khan

(C) Kunwar Singh

(D) More than one of the above
(E) None of the above

The Partition of Bengal was
made effective on

(A) 14 October, 1905
(B) 15 October, 1905
(C) 16 October, 1905
(D) More than one of the above
(E) None of the above

The Quit India Resolution was
adopted by the Congress in
Bombay on

(A) 7 August, 1942

(B) 8 August, 1942

(C) 9 August, 1942

(D) More than one of the above
(E) None of the above

The British ruled India for a long

period due to the

(A) liberal
Congress

policies of the

(B) imprisonment of Indian

leaders
(C) policy of Divide and Rule
(D) More than one of the above
(E) None of the above
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67.

68.

69.

70.

Queen Victoria’s Proclamation

was issued on which of the

following dates?

(A) 1 November, 1857

(B) 27 March, 1858

(C) 1 November, 1858

(D) More than one of the above

(E) None of the above

Which of the following

statements is/are correct?

(A) Raja Rammohan Roy was
the pioneer of modern

education.

(B) Swami Dayanand
proclaimed India for
Indians.

(C) Vivekananda participated in
the Parliament of World
Religions.

(D) More than one of the above

(E) None of the above

Who among the following

became India’s unofficial

Ambassador to England?

(A) Surendranath Banerjee

(B) Dadabhai Naoroji

(C) Swami Vivekananda

(D) More than one of the above

(E) None of the above

Who described the Government

of India Act, 1935 as a ‘Charter

of Slavery’?

(A) Mahatma Gandhi

(B) Netaji Subhas Chandra
Bose

(C) Maulana Hasrat Mohani
(D) More than one of the above
(E) None of the above
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68.

69.
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71.

72.

73.

PART—III
( PHYSICS )

Laser light beamed at the moon,
takes 2-56 seconds to return
after reflection at the moon’s
surface. The radius of the lunar
orbit around the earth would be

(A) 3-84x10° km

(B) 3-84x10° m

(C) 0-384x10° km

(D) More than one of the above

(E) None of the above

The technique used to measure
large time intervals is

(A) solar eclipse

(B) radioactive dating

(C) relativistic technique

(D) More than one of the above
(E) None of the above

The voltage across a lamp
is V =(6-0%£0-1) volt, and current
passing through it is
I=(4+10-2) ampere. Considering
the power consumed P =VI, by
the electric lamp within error
limit would be

(A) (24+£1-6) watt

(B) 24+16) watt

(C) (0-24%1-6) watt

(D) More than one of the above
(E) None of the above
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74. The nearest star to our solar

system is 4-29 light-year away.
How much is this distance in
terms of parsecs?

(A) 1323 parsecs

(B) 1-323 parsecs

(C) 132:3 parsecs

(D) More than one of the above
(E) None of the above

75. A capacitor of capacitance
C=(2-0£0-1)uF is charged to a
voltage V =(20+0-5) volts. The
total charge on the capacitor
within the error would be
(A) (40-0+3-0)x10°°C
(B) (40-0£0-3)x107°C
(C) (40-0+3-0)x10°C
(D) More than one of the above
(E) None of the above

76. Which of the following is the
most precise device for
measuring length?

(A) Vernier calliper with 20
divisions on sliding scale

(B) Screw gauge having pitch
1 mm and 100 divisions on
circular scale

(C) An optical instrument that
can measure length within
a wavelength of light

(D) More than one of the above

(E) None of the above
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72.
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75.

76.

g 4-29 THmI-TW 2| TE T WA ¥ S
et arft?
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77. For

78.

79.

photoelectric  emission,
tungsten requires light of
wavelength 2300 A. If light of
1800 A wavelength is incident
on it, the emission

(A) takes place

(B) does not take place

(C) may not take place

(D) More than one of the above

(E) None of the above

The wavelength of photon of
energy 1 keV is 124x107° m. The

frequency of 1 MeV photon

would be

(A) 1-24x10%
(B) 2-4x1020
(C) 12-4x10™
(D) More than one of the above

(E) None of the above

The small unit of area, used to
measure area of nuclear cross-
section is

(A) Bohr magneton

(B) Barn

(C) Rydberg

(D) More than one of the above

(E) None of the above
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80. Two trains, each having a speed

of 30 km/hr are headed at each
other on the same track. A bird
that can fly 60 km/hr, flies off
the front of one train, when they
were 60 km apart and heads
directly to the other train. On
reaching the train, the bird flies
back to the first train. The total
distance the bird travels before
the train collides would be

(A) 60 km
(B) 30 km
(C) 90 km

(D) More than one of the above
(E) None of the above

81. The displacement of a particle
moving along x-axis is given
as X =18t+15t%. The instan-
taneous velocity at t=25s
would be
(A) 18 m/s
(B) 28 m/s
(C) 78 m/s
(D) More than one of the above
(E) None of the above

82. Monochromatic light of
frequency 6-0x 10'*  hertz is
produced by a laser. If the power
emitted is 2-0x 1073 watt, then
the number of photons emitted
per second by the laser is
(A) 5:0x107°
(B) 5-0x10!°
(C) 7-96x10'°
(D) More than one of the above
(E) None of the above
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83.

84.

85.

86.

The speed measured by the
speedometer of a scooter is

(A) average

(B) instantaneous

(C) final

(D) More than one of the above
(E) None of the above

The position of an object is given
by x = 2t2 + 3t. Its motion would
be

(A) uniform

(B) non-uniform

(C) partial uniform

(D) More than one of the above
(E) None of the above

The position of the body is given
by x=Asinwt. The time at
which the displacement would
be maximum would be

(A) /o
(B) m/2m
(C) mw

(D) More than one of the above
(E) None of the above

If the change in velocity of a
body is equal for equal interval
of time, it is said to move with

(A) uniform acceleration

(B) non-uniform acceleration
(C) exponential acceleration
(D) More than one of the above
(E) None of the above
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87. If a particle moving in
straight line, has displacement
x =10t+15¢t2, (here x is in
meters and time t is in second)
the average acceleration would
be
(A) 90 m/s?
(B) 9 m/s?
(C) 900 m/s?
(D) More than one of the above
(E) None of the above

88. When moving object covers
equal distance in equal time, the
object is said to have
acceleration
(A) zero
(B) infinite
(C) finite
(D) More than one of the above
(E) None of the above

89. A ball is thrown vertically
upward with a velocity of
20m/s from the top of a
building. If g=10 m/s?, then
how high will the ball rise?
(A) 20 m
B) 2 m
(C) 200 m
(D) More than one of the above
(E) None of the above
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90. A car moving with a speed of

91.

92.

S50 km/hr can be stopped by
brakes after covering 6 m. What
would be the minimum stopping
distance, if the car is moving at
a speed of 100 km/hr?

(A) 24 m
(B) 24 m
(C) 240 m

(D) More than one of the above
(E) None of the above

A cricket ball is thrown at a
speed of 28 m/s in a direction
30° above horizontal. The
maximum height attained by the
ball would be

(A) 10 m
(B) 100 m
(C) 1000 m

(D) More than one of the above
(E) None of the above

A rocket of mass 0-1 kg has fuel
of mass 0-02 kg, which it burns
out in 3 seconds. It starts from
rest on horizontal smooth track
and attains speed of 20 m/s
after the fuel is burn out. The
thrust on the rocket due to the
burning of fuel would be

(A) 2 newton

(B) 2/3 newton

(C) 3/2 newton

(D) More than one of the above
(E) None of the above
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93. A block of 8 kg, initially at rest is
pulled to right along a friction-
less horizontal surface by a
constant force of 12 N. The
velocity of the block after it has
moved 3 meters would be
(A) 3 m/s
(B) 30 m/s
(C) 0:3 m/s
(D) More than one of the above
(E) None of the above

94. A small pebble drop of mass
1 gram falling from a cliff of
height 1 km hits the ground
with a speed of 50 m/s. The
work done by the resistive force
would be
(A) 875 joules
(B) —-8:75 joules
(C) -87-5 joules
(D) More than one of the above
(E) None of the above

95. A body of mass m released from
rest, from the top of a smooth
inclined plane of height h. Just
before it hits the ground, its
speed is given as
(A) 2gh
(B) @gh)”
(©) 2(g/h)”
(D) More than one of the above
(E) None of the above
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96.

97.

98.

If a spring force is expressed as
the difference between the initial
and final value of potential
energy function, then the spring
force is said to be

(A) conservative

(B) non-conservative

(C) relaxation

(D) More than one of the above

(E) None of the above

The principle of conservation of
mechanical energy states that if
only conservation forces do
work, the mechanical energy

(A) remains constant

(B) decreases

(C) increases

(D) More than one of the above

(E) None of the above

A block of mass m is extended to
a position x,, and released from
rest. If the maximum velocity is
at any point x, and x lies in
between -x, and x,,, then x
would be equal to

(A) zero
(B) ~Xm
(C) +xp

(D) More than one of the above

(E) None of the above
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99,

100.

101.

A person trying to lose weight,
lifts a 100 kg mass up to
0-5 meter, 1000 times. If the
potential energy lost each time,
he lowers the mass, is
dissipated, the work done
against the gravitational force is

(A) 49000 joules

(B) 49 joules

(C) 490 joules

(D) More than one of the above

(E) None of the above

A child of mass 20 kg takes a
ride on a curved slide of height
6 meters. The child starts from
rest at the top. The speed of the
child at the bottom would be

(A) 11 m/s

(B) 10 km/s

(C) 1 m/s

(D) More than one of the above

(E) None of the above

A spring is cut into two equal
halves. The spring constant of
each half will be

(A) same as that of original
spring

(B) twice,
spring

as that of original

(C) one-half, as that of original
spring

(D) More than one of the above

(E) None of the above
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96. 3R &M o« #I, IR wa wf<m 99, TUF TEHl IUAT YR HH AT Iedl &l
feufes St & 7 & TR ¥ =6 T T8 1000 R 100 fFo o & sk U 5
S, 1 {8 5t e hd @ H 0-5 Hio % 33T 2| I TAF R

) aR & =1 i ) gt ffas s=i
() (weefl) = TE B W, q et 9 % ey

(B) femmeft st foran T =t @
(©) 3o 5 (A) 49000 Sct
(D) =i # & T @ (B) 49 S
C) 490
(E) ST & @ =i T ) o
(D) 39w | ¥ UH ¥ M+
E) 3% | ¥ g T2l
o7, o i e = e *) i
T P T e g e S g, 100. 20 fho o YR & Wk &= 6 Hio
qr FIeh Sl 1 0= St w
(A) T =ar g 2| TR T8 fOR e ¥ freacms %
Iaqu fag ¥ fhaew gE® &, @
(B) = e & fohaeTagl *h Tde T age WA S A
(C) =@ " B
(D) 3ud U | UH A Afh (A) 11 #o ufd ¥ ©
) 3w § @ B T (B) 10 fo o ufaq ¥k &

(C) 1 Hio ufg Ak &

98. m UHT % Uk sclidh &l x,, EJfd dF (D) S 6 o A
diaet, form een ¥ Bie AT 2 (E) Sugh @ | g T
R x forg W A &1 7AW Afeewan &
AT X, —x,, QAT x,, o A A 2, 101. UH & &l & s Wi H e fe

ql x 1 7 BT ST 21 TAS A w8 e &
@) 7= T A
(A) U9 T8 & feories & s
B) =X B) T i % fooris & g
©) +xm (C) e f&im % feorish bt ammen
(D) 39 # & TF ¥ AferF (D) I & ¥ UF §
(E) 3ude d 9+ T (E) 3ude # &+ T
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102.

103.

104.

If the momentum of a body

increased by 300%, then
percentage increase in
momentum would be

(A) 300%
(B) 400%
(C) 100%

(D) More than one of the above

(E) None of the above

An electron and a proton are
detected in a  cosmic-ray
experiment, the first with kinetic
energy of 10 keV and second
with 100 keV, respectively. How
are their velocities related?

(A) Proton moving faster
(B) Electron moving faster

(C) Both electron and proton
move with same velocity

(D) More than one of the above

(E) None of the above

The casing of a rocket in its
flight from earth to moon burns
due to friction. The required
heat energy for burning comes
from

(A) rocket

(B) atmosphere

(C) sun

(D) More than one of the above

(E) None of the above
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105.

106.

107.

A comet moves around the sun
in an elliptical orbit. The work
done by the gravitational force
due to sun over every complete
orbit of the comet would be

(A) infinite

(B) finite

(C) zero

(D) More than one of the above

(E) None of the above

A helicopter lifts an astronaut of
72 kg, 15 meters vertically from
the ocean by means of a cable. If
the acceleration acting on the
astronaut is g/ 10, the force from
the helicopter would be

(A) 11880 joules

(B) 10880 joules

(C) 980 joules

(D) More than one of the above

(E) None of the above

A boy of mass 40 kg walks up a
flight stair to a vertical distance
of 12 meters in a time interval of
40 seconds. The rate of doing
work against the force of gravity,
g =10, would be

(A) 120 watt

(B) 12 watt

(C) 100 watt

(D) More than one of the above
(E) None of the above

30 [N



102.

103.

104.

I fordt f9 € % 99 & 300% 9@
feam Sme, ar wem # ufaera g gt

(A) 300%

(B) 400%

(C) 100%

(D) 3w U | TH A Al
(E) 3udth § & 1S T

FHifHd RO &1 UH T WA a9
10 fFell-3oaegi dice & UH SoiaeH
qar 100 fhall-3oee dice & TH
TIH 1 9dl doidl g1 39k o H
TEe BATY

(A) I 1 S 3tfereh g
(B) A 1 AT Aferk BN

(C) g 3 W ST ol o THH
BRT

(D) 3UYh | § TH ¥ Al
(E) 37 | ¥ 18 e

T Uohe T TR ARV geft ¥ =egw
F Adg W 3ISH & SR TUT & HR
S ST €1 o % foIu 3Teyges ardi
Tl el & UTH et 27

(A) Tz

(B) @mgw =

© =

(D) 30w W | TH § Afh
(E) 3udth # & #1$ T
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105.

106.

107.

Teodl g4 % ufitd: deEgE war §
o T 2| gF ok TR S gRI
HHS % Tk 01 HET ok WA o ANH
fon T < B

(A) S

(B) dffi

(C) =A

(D) 39w U | TH A Afh
(E) 3w & @ 18 Tt

TH Tl R had W TEEd o
72 foho WMo % TH UEMIC I THE
gae ¥ 15 o oraq fesm # 33w
AT | TR UEEHE R il ol
F HE g/10 &, d el ga
T R T HE B

(A) 11880 S

(B) 10880 I

(C) 980 5@

(D) 39w | ¥ UH ¥ M+
(E) 39t o & I8 7

40 fho Uo YR 1 TH S SIH W
TJed g 12 e i aeeq g
40 €% T U TF HAT & | TeedTwuo o
%+ foeg 3o wa ° T T
BTN, 3R g =10 87

(A) 120 ar

(B) 12 d©

(C) 100 dr

(D) 39w | ¥ TH ¥ M
(E) 39t # & 1$ T
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108.

109.

110.

In an elastic collision in between
two bodies of equal mass, the
kinetic energy is conserved

(A) after the collision

(B) during the collision

(C) before the collision

(D) More than one of the above

(E) None of the above

A railway carriage having mass
8000 kg moving with a velocity
54 km/hour with
another stationary carriage of
same mass. The loss of kinetic
energy would be

collides

(A) 450 kilojoules

(B) 250 kilojoules

(C) 45 kilojoules

(D) More than one of the above

(E) None of the above

The power of a motor capable of
raising 2000 litres of water from
a well of 120 meters deep in
5 minutes would be (g=98,
density of water 1 kg/litre)

(A) 7-840 kW
(B) 7840 kW
(C) 784 kW

(D) More than one of the above

(E) None of the above
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111.

112.

113.

A pump on the ground floor of
a building can pump water to fill

a tank of volume 30m° in

15 minutes. If the tank is
40 meters above the ground and
efficiency of pump is 30%, then
the electric power consumed is

(A) 43-57 kW

(B) 4357 kW

(C) 435 kW

(D) More than one of the above
(E) None of the above

In an atom, electron revolves in
a circular orbit of radius 0-53 A
with a velocity 2.2x10° m/s
with an angle 30°. If the mass
of electron is 9x1073! kg, the
angular momentum of the
electron would be

(A) 52-47x1073% kg m?/s
(B) 5-247x1073* kg m?/s
(C) 524-7x1073% kgm?/s

(D) More than one of the above
(E) None of the above

If the linear and angular

momentum of a rigid body are
not changing with time, the
body is said to be in

(A) equilibrium

(B) unstable equilibrium

(C) finite equilibrium

(D) More than one of the above
(E) None of the above
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108. UHHE HET & a1 U S & AT TAw

109.

110.

Ferg T 0, Tiferst St wifeAd Tt B
(A) TErg < e

(B) ¥Hg % AN

(C) @eg % Tt

(D) 39w H ¥ UH ¥ M

(E) 3udth # & #1$ T

™ W UH fesen, fomERl mWmEn
8000 fho o 7, 54 fho o uha
92 % A ¥ Iad gC H9H HEAT % Th
T for fes @ et 2| Tifast St o
A H e gl

(A) 450 foretis

(B) 250 FraliSet

(C) 45 feralrea

(D) 39w | ¥ UH ¥ M
(E) 3udth # & #1$ T

120 #ieXx & FE ¥ 2000 e aH
F 5 e § W o & foe ermaves
e & FS Bt (g=9-8, UMt @
=cd 1 fRo To wfd wffex)

(A) 7-840 fratare

(B) 7840 fHeramr

(C) 784 fHaam

(D) 39w H ¥ TH ¥ M
(E) 3udth # & #1$ T
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111. T # (w) fofesn & vaa @
40 Hfiw IR & s 30 w9 o
AFAT & IF H WA A 15 fiFe &
IO AT 3| SR WX A gerd 30%
A, d @ g forsteft Y A et
(A) 43-57 forarare
(B) 435-7 ferarare
(C) 4-35 fretar
(D) 39w H ¥ UH ¥ 1M+
(E) 3T | & 18 e
112. % TeH H U 3oided 2-2x10° o
yfg ¥ T AT ¥ 053 A FAdI™
% geta wem ®§ 30 feuft & o w Al
F T Bl W FAEHE W HE
9x1073! foho Wo B, A T H
i JaT B
(A) 52.47x1073% fho mo =l o
ufd O

(B) 5.247x1073% fho o =nf #fio
ufd 9% €

(C) 524-7x1073% oo uio = o
Ifd 9

(D) 39w | ¥ UH ¥ 1M

(E) 3w & 9 18 T

113. R Tt g8 T4 g & Wig qun i
G 1 A GHT S G1of Aqiafdd &l
71, a1 fu s i feufy 7 gt
(A) HgeH
(B) 3t wger
(C) it Hger
(D) 39w W | TH § Afh
(E) 3udth # @& 1g T
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114. The bottom of ship is made

115.

116.

heavy to keep centre of gravity
(A) at low level

(B) at high level

(C) at medium level

(D) More than one of the above
(E) None of the above

A particle on a rotating disc has
initial and
positions as
(i) -2 rad, +6 rad
(ii) -4 rad, -8 rad

(i) +6 rad, +2 rad

final angular

In which case the particle
undergoes a negative displace-
ment?

(A) ()
(B) (i)
(C) (i)

(D) More than one of the above

(E) None of the above

The moment of inertia I of a
rigid body about an axis of
rotation and rotational kinetic
energy (KE) of the body rotating
with unit angular velocity about
that axis is related as

(A) I=2KE
(B) I=KE
(C) I=KE/2

(D) More than one of the above

(E) None of the above
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117.

118.

119.

An energy of 484 joules is spent
in increasing the speed of a

flywheel from 60 r.p.m. to
360 r.p.m. The moment of
inertia of the flywheel would be
(A) 0-7 kg-m?

(B) 7-0 kg-m?

(C) 70 kg-m?

(D) More than one of the above

(E) None of the above

The angular speed of a
motor wheel is increased from
1200 r.p.m. to 3120 r.p.m. in
16 seconds. Its uniform angular
acceleration would be

(A) 4n rad/s?

(B) 0-4n rad/s?

(C) 40m rad/s?

(D) More than one of the above
(E) None of the above

A wheel has a constant angular
acceleration of 30 rad /SQ.
During 40 seconds interval, it
turns through an angle of
120 rad. Its initial angular speed
at t=0 would be

(A) 24 rad/s

(B) 24 rad/s

(C) 024 rad/s

(D) More than one of the above
(E) None of the above
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114. 9t & S & eRAa (W) w9

115.

116.

T ST &, o -h5 i
(A) T @ % o

(B) =t % fog

(C) = & W@ % forg
(D) 30w W | TH § AfUh
(E) 3w & @ 18 7t

HUIF At Tk ehd! W T uw o
yRfeyes qun SAfam wivfa feafa @

foreTgEm gt S g

(i) -2 rad, +6 rad

(ii) -4 rad, -8 rad

(iii) +6 rad, +2 rad

S B 9 TR etaEem A wu &
fereemmaa e gm?

NG

(B) (i)

(C) (i)

(D) 39w H ¥ UH ¥ M

(E) 3udth # & 1S T

et g fue =1 foreft o1 & uft:
Steca-3met (1) don 3 fu e o3
e o aRd: TS RV o A T A
W U TGS S (KE) & 7E H gey
Ll

(A) I=2KE

(B) I=KE

(C) I=KE/?2

(D) 39Y® | ¥ TH ¥ M

(E) 37 & & 18 e
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117.

118.

119.

T FAEeRld i A @ 60 r.p.m. |
360 r.p.m. QM W 484 S[cd el

T 2l 2| FAEEE SIS - S
am

(A) 0-7 fRo wo-at Hio
(B) 7-0 fho wmo-ant Hio
(C) 70 fo mo-ant o
(D) 39w | ¥ UH ¥ M+
(E) 39t § & #1$ T

TH HIEX % Akl RUE TG
16 9% € ®§ 1200 r.p.m. ¥ 3120
r.p.m. d% 9§ Sl T IAh GEH
IV T T/ B

(A) 4n rad/s?

(B) 0-4n rad/s?

(C) 40n rad/s?

(D) 39w W | TH § Al
(E) 39tk § & 1$ T

U e 3-0 rad/s? % GHH H
@O F WY YW T 2| T 40 Uk S
% A § I8 120 rad @ & H0T A
oH ST 8| 39 t = 0 9T W UREE
UM AT T TH BT

(A) 24 rad/s

(B) 24 rad/s

(C) 024 rad/s

(D) 39w | ¥ UH ¥ M+
(E) Sudth # & #1$ T
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120. The maximum and minimum

121.

122.

distances of a comet from

sun are 1-4><1012 meter and

7%x10'° meter. If the velocity
nearest to sun is 6 x 10% m/s, its
velocity farthest from the sun
would be

(A) 3000 m/s
(B) 300 m/s
(C) 3 m/s

(D) More than one of the above

(E) None of the above

A mass M is broken into two
parts, m and M - m. How are m
and M related so that the
gravitational force between the
two parts is maximum?

(A) m=M/2
(B) m=3M
(C) M=m/2

(D) More than one of the above
(E) None of the above

A saturn year is 29-5 times the
earth year. How far is the saturn
from the sun, when the earth is

1.5x10% km away from the sun?
(A) 14.-3x108 km

(B) 143x10® km

(C) 14-3x10'° km

(D) More than one of the above

(E) None of the above
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123. Pascal’s law to calculate the
pressure of a liquid is applicable
when the fluid is
(A) static
(B) dynamic
(C) static and dynamic
(D) More than one of the above
(E) None of the above

124. The equation which gives
relation among the temperature
measured in Centigrade,
Fahrenheit and Reaumur scale
can be written as

C F-32 R
(A) — = =—
100 180 80
C F-32 R
B) o= oS-
180 100 80
C F-32 R
© go= e =100
80 180 100
(D) More than one of the above
(E) None of the above

125. An average induced e.m.f. of
0-2 V appears in a coil when the
current in it is changed from
50 A in one direction to 5:0 A in
the opposite direction in 0-2 s.
The self-inductance of the coil is
(A) 40 mH
(B) 0-4 mH
(C) 50 mH
(D) More than one of the above
(E) None of the above
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120. Jesaar H I " Al q

121.

122.

Fae gt wEe 1.4 x 1012 Ho wd
7x1010 dto ¥ R gd ¥ fikeam
fag ® o %1 @ 6x10% o ufa
% T A, A Y fog W I w1 AR
2

(A) 3000 o ufq A
(B) 300 Hto fd @ &
(C) 3Hogfaas® T

(D) 39w H ¥ UH ¥ M+
(E) Sudth # & 1S T

weh vard, foreeht e MR, S a Wit
mad M-—m ¥ qel S g1 m 3R
M T8 R & gafa & 6 37 ae
T ST e S AThad &7

(A) m=M/2

(B) m=3M

(C) M=m/2

(D) 30w W ¥ TH § AfUh

(E) Sudth # @ 1S T

I T8 W TH A1, Yedl & U A1 &
29-5 THT % SR 2| ¥ H gd ¥ gl
w1 e, R et ® ogd Ao
1-5x108 fho o =17

(A) 14-3x108 fRo o

(B) 143x10% fho o

(C) 14-3x10'° o o

(D) 30w W | TH § AfUh

(E) 3 # & g e
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123.

124.

125.

forelt 3@ g/ RiIfUd g F AT

% foTu Wk ureehel a1 fem @ 2 g,

ECE-C]

(A) TOR s & &

(B) TicmM 1awen # &

(C) fer wa wfqum, foret oft stamen
I

(D) 39w W | TH § Afh

(E) 37 & & 18

TR, S fR ARE, wRAEEE au
TR qusEn Wha H "EY S Ll
(]

C F-32 R
B) o=
100 180 80

C F-32 R
180 100 80

(B)

F-32 R
180 100

C
© 30°

(D) 39w | ¥ UH ¥ 1M+
(E) 3T | ¥ 18 e

TH Feol H 02V H WWa UG
To THo ko qd fewm Iam 2, 51a 0¥
qU A 02s T UF G 4 50A ©
oo fesm ° 50 A § sea fear s

2| Fecll H TEREHE @

(A) 40 mH

(B) 0-4 mH

(C) 50 mH

(D) 39w W | TH § Afeh
(E) 37w § & =g T
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126. A glass

127.

128.

block has
15000 cm®. On heating from

temperature 20 °C to 45 °C, its
volume increases by 5cm?3. The

volume

linear expansion coefficient

would be

(A) 4.-4x107° °c™!

(B) 44x1076 oc~!

(C) 440x107© °c™!

(D) More than one of the above

(E) None of the above

The temperature of water at the
top of waterfall and at its bottom
remains

(A) equal

(B) different

(C) Nothing can be said

(D) More than one of the above

(E) None of the above

When thermodynamic system
undergoes physical change at
constant pressure, then such
thermodynamic process is called

(A) isobaric process

(B) isothermal process

(C) adiabatic process

(D) More than one of the above

(E) None of the above
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129. 70 calories of heat is required to

130.

131.

raise the temperature of 2 mol of
an ideal gas at constant
pressure from 30 °C to 35 °C. If
R =2 cal/mol-K, the increase in
internal energy of the gas would
be

(A) S calories

(B) 50 calories

(C) 500 calories

(D) More than one of the above

(E) None of the above

In a process, where after

interchange of heat and work,
the system restored to its initial
state is known as

(A) linear process

(B) cyclic process

(C) non-cyclic process

(D) More than one of the above

(E) None of the above

When air quickly leaks out of a
balloon, it becomes

(A) hot

(B) cool

(C) No change in heat

(D) More than one of the above

(E) None of the above
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126. T M & sclih &1 3TFd9 15000 =4

127.

128.

To o %ImZD%‘;ﬁmﬁ
45 feift ade 9% ™ FH W [Wh
AqEAH T 554 Fo o fit gfg Bt B
AR % WE TR TS T AH

grm?

(A) 4-4x107° faft awe!
(B) 44x107° feft a=fire !
(C) 440x107° feft a=ire!
(D) 39y | ¥ TH ¥ M
(E) 3udth # & 1S T

IR o T fog qT =Jdan forg
W T T AIIHA BT @

(A) &=

(B) @M

(C) F® it &l el ST Fehell
(D) 30w § | TH § Al
(E) 39tk § & *1$ T

Ffraa s w, ot swmfas e &
B arel fifaer aftad i Fed §

(A) THRE T UHH

(B) GHATH™ YA

(C) %geH UghH
(D) 39w H ¥ UH ¥ M+
(E) 37 & & 18 e
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129.

130.

131.

Faa a9 W, U% ey W% 2 WA
o @ auwn 30 foft a<dws @
35 faft @< Tk e #H
ATIH FEAT 1 AE 70 Faldl g, IS
R =2 cal/mol-K, d@ T @i 1aie
Fott 4 afterdd &1 9= g

(A) 5 A

(B) 50 sart

(C) 500 el

(D) 39w | ¥ TH ¥ M=
(E) 3w & @ 18 7t

3@ Ui w1, el s @ wd &
TER TFeA o 9YE, e O @
e § 3 ST 8, FEd ©

(A) W= gl

(B) =&hr ufgkn

(C) eT=rshr ufskan

(D) 39w | ¥ TH ¥ 3
(E) 3udth # & #1$ T

TeaR ¥ 3= gal e W Tsar &
EIcIk

(A) T

(B) 3=

(C) dm erafafda Tear
(D) 39w | ¥ UH ¥ M
(E) 3udth # @ #1g T

39 [IHNFIAMn i e.r.o.



132.

133.

134.

135.

The first law of thermodynamics,
VO=VU+VW, for an iso-
thermal expansion of an ideal
gas becomes

(A) VO=VW
(B) VO =VU
(C) VO =0

(D) More than one of the above
(E) None of the above

During driving a car, the air
pressure in car tyres

(A) decreases

(B) increases

(C) remains constant

(D) More than one of the above
(E) None of the above

The volume of a given mass of a
gas at 27°C, 1 atmosphere
pressure is 100 cc. Its volume at
327 °C would be

(A) 200 cc
(B) 20 cc
(C) 2 cc

(D) More than one of the above
(E) None of the above

The average distance travelled
by a molecule between two
successive collisions is known
as

(A) mean free path

(B) total free path

(C) exponential free path

(D) More than one of the above
(E) None of the above
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136.

137.

138.

Eight dipoles of magnitude te is
placed inside a cube. What will
be the total flux coming out of
the cube?

(A) Zero

(B) Infinite

C) e

(D) More than one of the above

(E) None of the above

A semicircle arch of radius a is
charged uniformly and charge
per unit length is A, the electric
field at the centre would be

(A) A/2me ga?
(B) A/4mega
(C) A/4epa

(D) More than one of the above

(E) None of the above

Two point charges separated by
a distance d repel each other

with a force of 9 N. If the
separation between them
becomes 3d, the force of

repulsion will be

(A) 1N
(B) 3N
(C) 6N

(D) More than one of the above

(E) None of the above

40 (U0



132.

133.

134.

135.

eyl M % gmdAdiE YER % o,
FHGRE % Yom fom @ geo
VO =VU+ VW & S 8

(A) VO=VW

(B) VO =VU

(C) VO =0

(D) 3w U | TH A Afh
(E) ST 4 4 & 7

FR % ToId GHF TR | g1 1 g
(A) HE T TR

(B) g el @

(C) emufafda war g

(D) =wd § & & wifer

(E) 3udth # & 1S 7

27 faft ¥=<e W wd 1 agHed™
Toe W e T o f o Aamn
@A 100 Ho Ho ¥ 327 feft
VS dMUshA T 3T TG BT

(A) 200 Hio Hro

(B) 20 Hto Ho

(C) 2 ®io Hio

(D) 39w H ¥ UH ¥ M+
(E) 3w & @ 18 7t

foRet oT9] 31T 31 HHTITA TEEEl o HeA
eft Tft oo b et B

(A) f|d g U

(B) 3T Uh 9™

(C) <ETdTeh! §eh 9

(D) 30w W | TH § AfUh

(E) 304 & & hrg 7
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136.

137.

138.

te QW % NS Tygal & Th = &
I W T 2| B U e atel e
T T M B

(A) =

(B) 3Fd

(C) e

(D) 39 U | TH A Al
(E) 3w & @ 18 Tt

a JEAW F TH JEgd AER Hl
HHTEER 3Tl THF &9 ¥ AaRE
T T IHE IS W STEY h T A
B ST 21 ARk ks W T &
T | BT

(A) A/2me ga?

(B) A/4mega

(C) A/4eoa

(D) 39w | ¥ UH ¥ M
(E) 3% 4 4 & 7

3l foarg o1, S UH-TR ¥ d W W
fm & 9N I g UH-gW H
foefia d 21 TR @ @ & d @
FET 3d X oI S, at gF1 % mem
T arer Tt g

(A) 1N

(B) 3N

(C) 6N

(D) 39w | ¥ TH ¥ M
(E) 3udth # & *1$ T
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139.

140.

141.

The net charge on a current-

carrying conductor remains

(A) positive

(B) negative

(C) zero

(D) More than one of the above

(E) None of the above

A gang condenser is formed by

interlocking several plates as

shown in the figure below.

The distance between the

consecutive plates is 0-885 cm

and overlapping area of plates is

5 cm?. The capacity of the unit

is €g=8-85x1071?)
nnm

(A) 1-06 pF

(B) 4 pF

(C) 0-36 pF

(D) More than one of the above

(E) None of the above

The equivalent capacity in the

mentioned figure will be

d
d >
d
(A) eoA/2d
(B) 2e0A/d
(C) epA/d

(D) More than one of the above
(E) None of the above
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142.

143.

144.

The equivalent resistance
between points A and B of the
circuit shown would be

X
A+ MN—L—MMN—— MWL B
2R 2R |Y R
(A) RQ
(B) R/2Q
(C) 2RQ

(D) More than one of the above
(E) None of the above

Which factor is immaterial for
the wire used in electric fuse?

(A) Length
(B) Radius
(C) Material

(D) More than one of the above
(E) None of the above

Find the resistance between the
points A and B situated on the
circle of diameter AB, 2 meters
shown in the figure below.
Both the halves of the circle
and diameter are made of
uniform wire of resistance

1x107*Qm™!is

Nl
N

(A) 2/3x107*Q
(B) 2nx107% Q
(C) 0-88x107%Q

(D) More than one of the above
(E) None of the above
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139.

140.

141.

T ok, SEH ¥ 9 ydted @ @
B, WPt @Y (A2 =) A gHd Bnft
(A) gdTcHS

(B) RUMcH®

(C) &

(D) 30w W | TH § Afh

(E) 3w & & 18 7t

13 Fa i i s % s,
fafm wei AT W T
1 |aTha SR S § 1 HHTA Wil
% T @ 0-885 Ho Hio T AT Wi
% A ATt aEwa W AW
5 &t Ho Ho 7, 1 G hit ariam 1
HH BT £ = 8-85x10712)

(A) 1-06 pF

(B) 4 pF

(C) 0-36 pF

(D) 39w | ¥ UH ¥ M
(E) ST 4 9 & 7

I fou gu fom i ongfa % omew,
e i guged it 1 HE B

d
_d >
d
(A) epA/2d
(B) 2e0A/d
(C) epA/d
(D) 39y | ¥ TH ¥ M
(E) 37 | ¥ 18 e
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142.

143.

144.

f= feu g uftws § A q1 B oG %
T Fuged S 1 A B

X
A e~ NMAM—L— AW
2R 2R |Y R

(A) RQ
(B) R/2Q

(C) 2RQ

(D) 39w | ¥ UH ¥ 1M+
(E) 3udth # & 1S T

foregq, wftwer & e WIS % fow wm-Tn
99 HEEEH &7

(A) <

(B) TE=™

(C) uetd

(D) 39w W | TH § Afh

(E) 3w & & 18 7t

= fou gu fom o w9 wefa & oard %
ar, e gfadg 1x107Y Qm™! g,

%1 JUER SAH Gl T 2| 3EE
= AB @1 @@ 2 Hiet &1 A a1 B
forg o wen wfee 1 A = Y

Nl
N

(A) 2/3x107*Q

(B) 2nx107% Q

(C) 0-88x107*Q

(D) 39y | ¥ TH ¥ M
(E) 3udth § @ #1$ T
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145.

146.

147.

Two parallel wires in free space
are 10cm apart
carries a current of 10 amperes
in the same direction. The force
on the wire exerts on the other,
per meter of length

(A) 2x 10~* N attractive

and each

(B) 2x1077 N attractive
() 2x107*N repulsive

(D) More than one of the above
(E) None of the above

A motor generates a 210 back
e.m.f., when the applied voltage
is 240 volts and armature
current is 50 amperes. The
power dissipated in the motor is

(A) 150 watt

(B) 50 watt

(C) 100 watt

(D) More than one of the above
(E) None of the above

In a series L-C-R circuit, the
potential difference between
terminal of inductance is
60 volts, between terminals of

capacitance is 30 volts and
between the terminals of
resistance is 40 volts. The

supply voltage would be

(A) 130 volts

(B) 10 volts

(C) 50 volts

(D) More than one of the above
(E) None of the above
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148. A transformer has efficiency of
80%. It works at 4 kW and
100 volts. If the secondary
voltage is 240 volts, the current
in primary coil would be
(A) 10 amperes
(B) 4 amperes
(C) 40 amperes
(D) More than one of the above
(E) None of the above

149. The photoelectric threshold
frequency of a metal is y. When
a light of frequency 4y is
incident on the metal, the
maximum KE of emitted
photoelectron will be
(A) S/2 hy
(B) 3 hy
(C) 4 hy
(D) More than one of the above
(E) None of the above

150. An electron and proton possess
same KE. Their de Broglie
wavelength will be
(A) greater the electron
(B) greater the proton
(C) both electron and proton

have same value
(D) More than one of the above
(E) None of the above
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145. §F &9 ° o 3 9uHa aR Th-gl

146.

147.

¥ 10 Ho o il gt W fm 21 T @
T B o # vefed aw@ w wW
10 UFRR 2| 3HT dTesh TH-g W
o AN a8 | =ik i i gohrE
TS W a1l A 3T | T BT

(A) 2x10™* N 3s =t
(B) 2x10~7 N 3trerdur s/l
(C) 2x10™*N foerdor =t
(D) 39w H ¥ UH ¥ M+
(E) 3udth # & 18 T

T A 210 e 1 9 3. TH. TH.
3T Tl B, Selfeh 39 W AN fore
F AE 240 Al 7 I H A
YaTfed 9’ 5 UFRR 2| Wi 3R @
&1 T F T A =T B

(A) 150 4

(B) 50 dmE

(C) 100 dr

(D) 39w H ¥ UH ¥ M+
(E) Sudth # & 1S T

T% L-C-R U9y H, 9 & R W
e 60 dice, @i & B0 W
favErR 30 dice aur afalg & o’ ®
favar@ 40 ace 21 ufmy & o0
SUIPRICRCECRCa R E Ul

(A) 130 a2

(B) 10 diee

(C) 50 diee

(D) 39w H ¥ UH ¥ 1M+
(E) 3udth # & #1$ T
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148.

149.

150.

Tk TG S gerdr 80 Tfawd 21 T8
4 foreiame qem 100 dice W HE Ll
Bl o fydiod Feclt w1 fe
240 A @, A WAHE F Al H
TeTfed T o1 W 1 Y

(A) 10 U

(B) 4 e

(C) 40 U

(D) 39w | ¥ UH ¥ M+
(E) 3 # & g

T 91q ! TeRreT-Toregd st Hmma st
H AF y Bl IR 4y AT HT TR
T u1g W ufad a2, a1 3cafia
wRIga 6 Afmay wfas FS
M B

(A) 5/2 hy

(B) 3 hy

(C) 4 hy

(D) 3w U | TH A Afh
(E) 3w & @ 18 7t

IR Toiag adl Wel i Tfast el
UM B, a1 bl € el et
= B

(A) A | ST

(B) WIZH ¥ SATET

(C) IR AT UIZH o SRR
(D) 39w | ¥ UH ¥ M
(E) Sudth § & 1g T
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TTYT, ATHT 3TeTIF 3R HiTdeh! IMTE

| wwa:2:309 2 | ( gurfe : 150 |

91 % ST 3 ¥ Ugd 9 for@ 1R i oA @ ug o |

el e

. T8 WA-gfEqeRt i wrn # fawfsa @—wm-1, W1 TE 9m-100] 9E-1 § 9T (3T€AT) o 9N §, 9m-10
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. 9W-1 H U9 & 1 ¥ 30, -1 § U ST 31 9 70 97 W11 #§ I ST 71 ¥ 150 9% 2| W11 a1

IET-I11 # T 3R 36 IR S0 v Tt @ gisa 21

3. weft vl # I gue R
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6. I % I I o foTw AUen! et ERT TR O IW TAS AT SR | 31U IR Uk o Us-1 W FRuifa T #

10.

11.

12.

JTUAT ATH qAT 377 Torerur ey foig e aeRT I U=eh STi=ll @i S |

IW TAE F gg-2 W Fulfia e § omn ergwHie qor wvA-yferet d g@en A, B, C A1 D S W
TY-GfEeRT o TR UY ok FW IR IR AfRd 8, ¥ wrafud g9 @l wrclt /et @ % ata-uiee W8 e
FeHE, i | I UAR W AIA-GeaehT FEer 3fohd TEi hid ST TAd J@AT 3ifehd Hid WX I Uk T el
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IW TE H YT T G & G Ui 99 39 TR 91 3 e—@), B), ©, © 3R @)1 ¥ F IW & & fou
U] T T2 % HAA Ueh g ol et /el Tl & ard-uise o7 8 Ffgd w6 31 7% 791 & o shaa wh
I A G TR 3IW 0 I 05 § fafed il 319 I 0ok | A Tk T o foIe vk § sAfees g9 # e @ 2,
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TRA-GEeRT | IS T HISAT AT IR FEAT BT | TA-YIEdeRT SR IT 9 I T afy § ole W ¥ a
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% ITgAfd 2

T % T H ° FoRe TR T off e A8 R W T W STENT o [OeehgER AT hi ST HeRdl © STUET AT
g g fear S wear 21

;wg‘fé I U I AT AT H Self Adhesive LDPE Bag § I¥ @@ @ e /€fiet sam o 3Iwia &t wiarhe
S |

Note : English version of the instructions is printed on the First Page of this Booklet.
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